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e Please check that this question paper contains 15 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 24 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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59T Y &1 I Uk JTaFT H &7 39T 2 1

(iv) Io7 G&IT 5-6 3K 17- 18 THIHE J97 8, 578 T35 & 3 3% & |
Jedh &1 I GIHTIT: 60 Isq] & 37fer 787 17 =iy |

(v) T G T7T-9 3R 19-21 Y TLHIHE J97 8, 579 59% & 4 375 & |
I HT IR GIHI=IT: 70 Jed] @ 371 a1 5147 =1fzy |

(i) ¥ &I 10-12 3K 22 - 24 I F0cAS 97 &, 575 39% & 6 3%
& | Y% 7 I GrET=Id: 100 Jsql & 37fee 787 §H7 F1fa0 |

(vii) IR TITTT TIT TEIICHSE &7 TIET TIT JIEYT ST &1 T Iow FHT @ SIAld
&7 faw a3 =nfew

General Instructions :
(1) All questions in both the sections are compulsory.
(it)  Marks for questions are indicated against each question.

(iii)) Question Nos. 1 -4 and 13 - 16 are very short-answer questions carrying
1 mark each. They are required to be answered in one sentence each.

(iv) Question Nos. 5§ -6 and 17 - 18 are short-answer questions carrying
3 marks each. Answers to them should normally not exceed 60 words
each.

(v) Question Nos. 7 -9 and 19 - 21 are also short-answer questions carrying
4 marks each. Answers to them should normally not exceed 70 words
each.

(vi) Question Nos. 10 - 12 and 22 - 24 are long-answer questions
carrying 6 marks each. Answers to them should normally not exceed
100 words each.

(vii) Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.
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SECTION A
(MICROECONOMICS)

1. fdu wu fom o, 3cued €9 Wk X,Y; R g A ¥ X,Y, W f§g B @
Rewepra T B : (IUH fIehed 1 T51 ) 1
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AT
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Shift from Point A on Production Possibility Curve X;Y; to Point B on
X5Y, in the given figure indicates : (Choose the correct alternative)

Good Y

O

(a) Decrease in resources
(b) Increase in resources
(¢) Full and efficient utilisation of resources

(d) Wastage of resources

OR

A Production Possibility Curve (PPC) would be convex to the origin if
Marginal Rate of Transformation (MRT) is . (Fill up the blank)

2.  Tortlt wH i foregl €1 srafifea @mmal & 3N &1 3g@ i |
St
YiEd] AnTd skl IRHTvd Wt |

Mention any two examples of implicit cost incurred by a firm.

OR
Define variable cost.
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(Iugh faeheq w1 =51 ) 1

(%) 3H1E H TR AR gfd
(@) Yuid: sl id

(1) SR g

() SRR gfd

The coefficient of price elasticity of supply of a good is 3. It is known as

. (Choose the correct alternative)
(a)  Unitary Elastic Supply
(b)  Perfectly Inelastic Supply
(c) Elastic Supply

(d)  Inelastic Supply

4. o gfenfiran § efwa gwifd a5k &1 TR BT | 1
(feh T < gfd )

The shape of the average revenue curve under perfect competition would
be . (Fill up the blank)

5. T hicdeh STET 1 TN Hd §Y, $A IWAMNQT q1 HHG YA 6
s g9g 1 == I | 3

Discuss the relationship between total utility and marginal utility, using

a hypothetical schedule.
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Discuss briefly the central problem of “What to produce”.
OR

Classify the following statements into positive economics or normative

o

economics, with suitable reasons :

(a) Consumer price index presents a more realistic picture of the
inflation rate in a country, than the wholesale price index.

(b)  Subsidies should be offered very carefully.

7.  Torelt 9%q 1 g T 10 @ FE T 14 B AT @ | ARG WM HT HHd A H
O (<) 1-25 7, A1 &g <h! AT 718 AT | Hfaerd et i o i |
T
fraffigq oAl § @ SR8 T8 A 77T g ? 0 IW b GHdH H 9y

HR ST |

(%) SEg I AT hI HHd A o OTh Hl, 3G TG o dohiodsh JAMI
&I 9 RUMcHs 994 gidl & |

(@) foemfean 6t awgett < win 6t Hiud <= I=: FH B B |

The price of a commodity increases from ¥ 10 to ¥ 14. Calculate

percentage fall in quantity demanded of the commodity if coefficient of
price elasticity of demand is () 1-25.

OR

State whether the following statements are true or false. Give valid
reasons in support of your answer.

(a)  The coefficient of price elasticity of demand for the commodity is
inversely related to the number of alternative uses of the
commodity.

(b)  Luxury goods often have lower price elasticity of demand.
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U 3R hi TEEEal 8 “hma fawg” dur “avg faudsmr” & o1 i
a9 § ==1 hifN |

YT
Ul SIGRITRTAT o 3T=TId T BH hiHd-TIhReh Bl & AT hiHA-HERH ? 3T
I Sl gfE i |

Discuss briefly the meaning of “Price discrimination” and “Product
differentiation” with the help of suitable examples.

OR
Is a firm under perfect competition a price taker, or a price maker ?
Justify your answer.

& T SrgEE <l wgEar A, i guitta — diia o fafy gro il % dqen
&1 frgfor AT | v W & Tueda § Iuge SR T |

IeqTe %o @uIftd (TR) | %l @ (TC)
(3ehrSi ©) (z ) (z #)
1 20 20
2 40 30
3 60 36
4 80 40
5 100 60
6 120 90

With the help of the given schedule, determine the firm’s equilibrium
using marginal revenue — marginal cost approach. Give valid reasons in
support of your answer.

Output Total Revenue (TR) | Total Cost (TC)
(in units) (in ) (in )
1 20 20
2 40 30
3 60 36
4 80 40
5 100 60
6 120 90
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(b)

ATHIAN T AN I U-TTehR T o1 BT & ?

FA AR (TC) sk, P INGdl AR (TVC) T3k qAT Hel R AW
(TFC) 5% o 1= €Y |wersy | ot 1 S Hifg | 2+4

Why is the short run Average Cost curve U-shaped ?

Explain the relation among Total Cost (TC) curve, Total Variable
Cost (TVC) curve and Total Fixed Cost (TFC) curve. Use diagram.

Fie:  FHElCIET ¥ Fad giREnad ghemdat & g, Je7 989 10(@) &
TIH TWE -

Note: The following question is for the Visually Impaired Candidates
only, in lieu of Q. No. 10(b) :

11. (%)
(@)
(a)
(b)

58/4/3 |

FdA @M (TC), A IHad! @rd (TVC) do1 Fad fR &@ra (TFC) %
s "9y Ty |

Explain the relation among Total Cost (TC), Total Variable Cost
(TVC) and Total Fixed Cost (TFC).

frafafegq wem o fer U sOR w9 A gEE HifSw qur w@efia
Ifersea i =mE i -

“Go ST U, a&q o @i U shatedl SR fashdrett & fau wmEw g
§|?7

=Fau fruffa $md w1 afoenfya A | @R g fee e asaT %
guTferd gy 1 3g@ it | 3+3

Identify the market form and explain the corresponding feature,
as given in the following statement :
“The commodity in this market has attributes which are identical

for sellers and buyers.”

Define Price Floor. State the likely consequence of this type of

intervention by the government.
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12. WM ST 76 T IqWiadT [Eeht S9ic T 500 7, AT & 9&qu, a%g X a1 9%
Y 1 ITHNT AT T8 & | gl hl ShiAd oSl T 50 3R T 2578 |

@ g I o MER W FAfaRaa gt & I e

(%) IuMIeAT o1 St FHRT fafau |

(@) e @1 i JauEr &= 7 ?

(M) =l a8 @l T 500, a6 X W o5 Bl B, df fhat geRTeal g W

g} 2
() af a&g Y 1 fimd g & S qen 9 el T 500 9% Y W
LAt B, a1 Tohal SRt SHa BT IR 2 1+1+2+2

AT

“Te U I GgeH TaRAT H B o T, Hma ufaremdE @t # 31 o
IERA I Al b FIUMG o SUS BET MY |7 R Y T MU HeH
GHIA Hd & 2 3199 I k1 fag hifsa | 6

Suppose a consumer whose budget is ¥ 500, wants to consume only two

goods, Good X and Good Y. The goods are respectively priced at ¥ 50

and T 25.

Answer the following questions on the basis of the given information :

(a)  State the budget equation of the consumer.

(b)  What is the slope of the budget line ?

(c) How many units can she purchase if she spends the entire ¥ 500
on Good X ?

(d) How many units can she purchase if she spends the entire ¥ 500
on Good Y, given that the price of good Y has doubled ?

OR

“For a consumer to be in equilibrium position, marginal rate of
substitution between the two goods must be equal to ratio of prices of
the two goods.” Do you agree with the given statement ? Justify your

answer.
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SECTION B
(MACROECONOMICS)

13. “oAfqw =oug@r o &9 H hald ok g HUE TH aEl YR 1 3gE
IS |

State the role played by the central bank as the “lender of last resort”.

14.  °H A fh a9 “ura % for ot B wemewr wfEfe” % v wew € | fd
Tl SSTe W Sed gY TS |1 % Hew H fuifad @ |
TR o F¢d g ToRd H1e ! R0 o @M % foTu #1E T 39T g3sy |

Suppose you are a member of the “Advisory Committee to the Finance
Minister of India”. The Finance Minister is concerned about the rising

Revenue Deficit in the budget.

Suggest any one measure to control the rising Revenue Deficit of the

government.

15. TR 6 fordl 3 Tt Toiea Tiftaat & 3erewr e |
areraT

HeSeh &7 o ITRAT (PSUs) H JTed ATHIY, ShR & ToTg H1
AT BT 2 | (W fashed 1 =T )

(%) IR Toa ifeaEt
(@) @ wfeaa
(
(

) qefira et
) YSfhma =
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State any two examples of non-tax revenue receipts of the government.
OR

Dividends received from Public Sector Undertakings (PSUs) are a part

of the government’s . (Choose the correct alternative)

(a) Non-tax Revenue Receipts
(b)  Tax Receipts
(c) Capital Receipts

(d)  Capital Expenditure

16. “amm smr” = yfeyfya Hifsw | 1

Define “demand deposits”.

17. Tordt STcaaTe 1 UMM B 2 : C =40+ 0-8 Y (UM T U H) | 3T &

39 TR &1 HaRor hife 59 W f|d 399 Sgia 15 o SO gl | 3
e

3T9d IUNAT Ygf a1 f18d S=d Ygid, GF1 § § I RUMcHS &l Tehdl & al

=i ? 3

The consumption function of an economy is : C = 40 + 0-8 Y (amount in

T crores). Determine that level of income where average propensity to
consume will be one.

OR

Which of the two, average propensity to consume or average propensity

to save, can be negative and why ?
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18. YR &= & YR Fow @ e g9 W, srdeyarenm d g9 9
TS T JuiA hifT |

Describe the adjustments that may take place in an economy when
ex-ante savings are greater than ex-ante investments.

19. dTEdideh Hhdl Tie] 3cUG ThE TR Hifgeh Tehal Bie] 30Ul | IME & ? Tk

{‘i’eﬂll("-l% 3qladYl {'Ilr\SCI o [l %”éQ |

How is Real Gross Domestic Product (GDP) different from Nominal

Gross Domestic Product (GDP) ? Explain using a numerical example.

20. dcyaey] § fhH YHR R ISd Aifd SR T e 3T <hl AT
A T Gehdl & ? THLATSY |

AT

Tl § “GHIEHT o TS i TWIAd B H TR oie shi fHehT i
g ¥ ==t IR |

Explain how the government can use the budgetary policy in reducing

inequality of income in the economy.
OR

Discuss briefly the role of the government budget in influencing

“allocation of resources” in the economy.

21. U HIcqeh HEATHS IGEW 1 TN Hd §Y, sfpT Tl h Grg go
gfska <t wag | ==t i |
Discuss briefly the credit creation process of the banking system, using a
hypothetical numerical example.
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22. (%) ICUEH % Hod i IRAIYG T | T8 Hod a7 ¥ forg TR i g 2
(@) fmfafea el @ “@-faifva 6 faftm om” % g &1 o

HIT : 3+3
. afyr
%.9. | foewo & e )

(i) | T T TR 17,300
(i) | 1,200
(Gif) | FER Mt =T Ut 1,100
(iv) | Sa-Fafoa i fufia om 2
(v) |S9aM 750
(vi) | ST9R hud T Fehdl =] 391G 927,500
(vii) | STITH BT 2,100
(viii) | <™ 1,800
(ix) | et 2,000

(a)  Define ‘value of output’. How is it different from ‘value addition’ ?

(b)  Calculate the value of “Mixed Income of Self-Employed” from the

following data :

S. No. | Particulars A'mount
(T in crores)
(1) Compensation of Employees 17,300
(i1) | Interest 1,200
(iii) | Consumption of Fixed Capital 1,100
(iv) | Mixed Income of Self-Employed ?
(v) | Subsidies 750
(vi) | Gross Domestic Product at Market Price 27,500
(vii) | Indirect Taxes 2,100
(viii) | Profits 1,800
(ix) | Rent 2,000
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(a)

(b)

(a)

(b)

58/4/3

fogeft g1 % st=qatg o foiu Sierl fohedl g1 Sehi 1 3g@ HITT |

frfafiea TH-¢1 IS @Ta/=Te] @Td o fohd 9 | fofg SITa qer i

()  99Td 9 9Ted RO W IS

(i) <=9 G WA B H AT 2+4

HAAT

YIAH Hgad @d § &R oH-¢7 a9 THSH TiH-g o sie 37at T8
HIT |

el § Yoagi™ a1 g1 § Aaedd H 3T s FHifT | 4+2
State any two factors responsible for inflow of foreign currency.

State on which side of capital account/current account will the

following transactions be recorded and why :
) Interest on loan received from Nepal

(ii))  Import of mobile phones from China

OR

Distinguish  between  Autonomous and Accommodating

transactions of Balance of Payments account.

Distinguish between depreciation of a currency and devaluation of

a currency.
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24, 9 % IR faga § “quret #i1 fagra” o1 o= 319 7 ? S1ggE stean fom
I TEEET | == it |

What is meant by the “Effective Demand Principle” in Keynesian theory

of employment ? Discuss using a schedule or a diagram.
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